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e - Time : Three hoxii‘_s - R L : :Méx'im:ﬁm.': 100 marks _' : '_ |
IE -..'Ahéivel‘ 'ALL'Queé'tions.
S PART A-—(10x2=20 malks)
Ce . UL Lonstluct Finite Automata for the regular expression : (a |b)* abb
. : : 2. Prove that [ = {O"l” fn>= 1}18 not a regular language
_ 3.  Whati is ambiguous grammar? Give example.
Ve 4. Find an'unambiguous grammar for the foﬂowmg grammar’:
g - ESE+E|\E¥E|(E)|id. o
' ; A - 5. Define Push Down Automata (PDA).
(/ A ( 6. What is meant by Instantaneous Description f01 a PDA.
' ' 7. What 1s recursive enumerable language? Give e*{ample
8. Write the applications of Turing Machine.
9. What is unsolvable problem? Give example:
10. What is Primitive Recursive Function? Give example.
| PARTB -~ (5 x 18 = 65 marks)
11 (a) Construct E-NFA f01 the regular expression (01 10) *101 and convert it
into DFA, - _ (13)
Or
' ! - ' (b) Elabcuate the steps to convert the DFA into Regular expression with

. suitable example. : ' . (13)




12.

13.

14.

(@ @ Convert the following CFG inte Griebach Normal Form: (10) |
&9&&.  -
Xy > X3 X 10
Xy > X1X2 le
(ii) Remove e -'.:bl'o'cluction from the following grammar
S->ASAlaB|bA—>B,B->ble. ®
() () White short notes on Chomsky hierarchy of grammar. ()
(n) Conveﬂ;thefollowmg gxammmm toCNF (5) )
:......:.:...-.SwébA‘aB , e e e T S T
. '_-*:Aw»bAAiaSla j
".'Z:B ——>aBBIbSIb
o (111) Ehmmate left I‘ECUISIOH folthe followmg glammar T (3
) A+A+B|A B]Bla | o | |
a @O Construct PD__A for L= {a"b" 1'n>:0}. - | ) . (6)
- :(il) - Construct PDA for._L = {w c(al _b)* l where 'w'is a PALlND_ROME}.
| o
(b) © 'Con.st:l;uct PDA for I - {0" 1 gmm l w.here 7, M > = l} (_6)'
(1) Tlustrate the equlvalence between PDA and CFL with example (7)_ |
(aj " Discuss about the techniques for const1 ucting the various types of Turing
Machine. : , : _7(13)
L | Or_-
(b) ' (1) Construct Tunng Machine for

{ws (a 1 b)Y*| where 'w'is a PALINDROME} (8)

(i) Construct Turing Machine for L = {1" 2" 8" | where n >= 1} N )

9 | 52868

M

() Explain in detail about the various mopelmes of recursive and

15. (a)
o recursive enumerable languages. _ ' (8)
(i) Fow does a primitive recursive funcuon help to identify computable
function. _ (5) '
. Or
(b) ‘Describe in detail about NP- Hald and NP- Complete ploblems with
- example. o o o (13)
| PART C-_(-ix_l‘_é %'_15 n_lérké) N '; e
- .' 16.(a) - () - Construct Turing machme for language over -the input alphabet s
e 5_-_2 :{ b} to shift the mput symbol two posn;lons left (5) e
2 _'j(ii) '-Analyze and bnef the concept of tractable and 111t1 actable ploblems
) . {) - State and prove the pumping lemmafm CFL '_ .3_: R
(i) White an algorithm for minimization of DFA. = . (8
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